THE SOURCE FOR CLASSIC
LAND ROVER PARTS

www.roversnorth.com

Part Nr. RNA086

Fits: Series 109" Station Wagon

Suggested Tools:

- Safety glasses

-1/2” or 3/8” socket driver

- 5/8” socket / wrench
- 3/8” socket / wrench
- Waxoyl protectant

-, 0

.L._:; \#
3/8”
Socket - h'

‘ -
- 4

L

5/8"
Socket

F

1/2:.
Socket
Driver
3/8", 5/8"
Wrenches
Waxoyl
omsosioN Power Shield
— Protectant
RNW5004PF

Safety Glasses

Class lll Receiver Hitch for
Series lIA, lll Military Chassis

1/2” Bolts, nuts
and washers

- -- 5
" \ \ \ Backing plate
- -~ -,

»
: P
o
. o= ‘«//F o 7~ 3/8” Bolts and
' o ) washers

1"““4"‘

Kit RNAO86 shown

Installation

Remove the tow plate assembly from the rear frame member if so equipped.
For 109" Station Wagons the fuel tank will need to be lowered to gain access to
the back of the rear frame member.

Note: Leave all hardware loose until end of project and tighten all at once.

Insert the supplied 5/8” bolts through the bottom holes in the face of the re-
ceiver hitch and use one washer as a spacer between the receiver hitch and
rear frame member. Be sure to include backing plate with bottom bolts.

Insert the supplied 3/8” bolts with flat washers through the top holes in the face
of the receiver hitch and use two washers as spacers on each bolt between the
receiver hitch and rear frame member. Fasten with washers and nuts provided.

Insert the two remaining bolts up through the bottom of the rear frame member,
using washers as spacers. Tighten all hardware.

ROVERS NORTH, INC. 1319 VT ROUTE 128, WESTFORD, VT 05494 USA www.roversnorth.com (802)879-0032 RNAOS86 - rev 2



ROVERS NORTH
Fitting Instructions for Class lll Receiver Hitch - Series 109” Station Wagon

One or two 3/8 washers,
as required

3/8 nut,
lock washer _\ I i \

& washer Q I’I_H [ \ H’%WHMM
Rear cross member \
-

3/8-24 x 4-1/2 bolt & washer

/ Backing plate

| One 5/8 washer

[
aunl I

I
— \\ 5/8-18 x 5 bolt

(2) 3/8 washers, /
if required
=T RNACE7

Rovers North

3/8-24 x 1 1/4” bolt, Class 3 Receiver Hitch
lock washer
and washer
Cross Section

|
|

5/8 nut,
lock washer
& washer

_-|
—
3.4

2 RNAO086 -reve2 ROVERS NORTH, INC. 1319 VT ROUTE 128, WESTFORD, VT 05494 USA www.roversnorth.com (802)879-0032



